SUBJECT

SUBJECT CODE PAPER
B-22-17 SOCIOLOGY | § |
TR HALL TICKET NUMBER QUESTION BOOKLET NUMBER
7 OMR SHEET NUMBER 200024
DURATION MAXIMUM MARKS NUMBER OF PAGES NUMBER OF QUESTIONS
1 Hour 15 Minutes 100 . 24 50

This is to certify that, the entries made in the above portion are correctly written and verified.

Candidate’s Signature

Name and Signature of Invigilator

INSTRUCTIONS FOR THE CANDIDATES
1. Write your Hall Ticket Number in the space provided on the
top of this page.
This paper consists of fifty multiple-choice type of questions.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are gequgsted

below :

(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not
accept a booklet without sticker-seal and do not accept
an open booklet.

(i) Tally the number of pages and number of
questions in the booklet with the information
printed on the cover page. Faulty booklets due
to pages/questions missing or duplicate or not
in serial order or any other discrepancy should
be got replaced immediately by a correct booklet
from the invigilator within the period of
b minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will
be given.

(iii) After this verification is over, the Test Booklet Number
should be entered in the OMR Sheet and the OMR
Sheet Number should be entered on this Test Booklet.

4. Each item has four alternative responses marked {A), (B),

(C) and (D). You have to darken the circle as indicated

below on the correct response against each item.

Example : @ . @

where (C) is the correct response.

5. Your responses to the items are to be indicated in the OMR

Answer Sheet given to you. If you mark at any place

other than in the circle in the OMR Answer Sheet, it will

not be evaluated.

Read instructions given inside carefully,

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the

OMR Answer Sheet, except for the space allotted for the

relevant entries, which may disclose your identity, you will

render yourself liable to disqualification.

9. The candidate must handover the OMR Answer Sheet
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SOCIOLOGY / $&ra a0
Paper - IT1 / 558 - 11
1. Who defined Sociology as the ‘Science | 1, Hgma TR ‘PSR GAgoIre FH’
of Social Phenomena’ ? o
™ ALyRoDoBIH 7

{A) Kingsley Davis (A) §oﬁ‘35 398

(B) Emile Durkheim (B) OHS c.‘ngo
(C) Marshal Jones (© ;5;»(?16 éesﬁ)
(D) F.H. Giddings (D) %3S, AgoR)

2. According to Maclver the two main | 2. %8%0 Hsebo Swmrcho G Boh Sy

characteristics of community are : ofered D ?
(a) Government (@) (Bgbeo
(b)) Locality () &8 PEIod® I¥BoSLo
() Community Sentiment () Sdomrcd grhd
(d) Primary relations (@) (ErEHE Sonogren
Codes : &5 :
(A) (a), (b) and (c) (A) (a), (b) 50BN (c)
(B) (b) and (c) (B) (b) 50835 (c)
(C) (b), () and (d) (G (D), (cy 2Bckw (d)
(D) (a) and (d) (D) (a) Hodcw (d)

T BT o BN ey s e

IS Er e I e B
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3.

(a) Structuralist )
(b} Mind, Self and

. (¢) Structure of

Match the following :.

G.H. Mead
Mythology

(i) T. Parsons
Society

(iii) Dahrendorf
Social Action

(d) Social Inequality (@iv) Levi

Strauss
Codes : |
@ B © @
@ @ O @ G
® O @ Gv (i)
© G Gi) @ 0
® @) O @ G

Choose the correct answer based on the
two statements, Assertion (A) and
Reason (R) given below :

Assertion (A4) :

Mean is the value of the middle item of
a series.

Reason (R) :

Mean can be calculated accurately even
when the classes are open-ended.

Codes :
(A) Both (A) and (R) are correct

TRy

&8 (B0b B 28R8S08 ¢

(@) s Q) &35 D&
@w’oé

(b) 3ok, ) (i) B.FER
©of 8

(c) @é‘JS ah PBRS (1ii) @3565"50)
T5PES

d) Ereg iv) 8D @S
ORVETRHS
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(@) (b) (c) (d)
4 Gv) @ G (i)
B) @ G) @Gv) (i)
© @ @) av) O
@ G @ @ G

Bot BDS BIFES (A) HBED TP
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5.

According to Bogardus “a structure of
society that is organized to meet the
needs of people chiefly through well
established procedures” is afan :

(A) Association (B) Norms
(C} Institution (D)} Role

Which of the following are non-material
Social facts from the writing of
Durkheim ?

{a) Morals

(b) Morphological components
(e) Collective conscience

(d) Collective representations
Codes :

(4) (a), (b) and (c)

(B) (a), (c) and (d)

(C) (), (¢) and (&)

D)  (a), (), (c) and (d)

Choose the correct answer based on the
two statements, Assertion (A) and
Reason (R) given below :

Assertion (A) :

Basically culture contains material and
non-material elements.

Reason (R) :
Religion is material element of culture.
Codes :

(A) Both (A) and (R) are true and (R)
18 the correct explanation of (A)

(B) Both (A) and (R) are true, but (R)
1s not the correct explanation
of (A)

(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

Rw

@p} r-II

ﬁ‘m& Q (P80, ‘erre Be.>§°e>°3a)c5 o.)r‘.Sé)eJ
TR (e ©SHoren 236‘)@&)% .oq)a;s

C N&es &)8&8’:) oLrd ?

(A) BHogoo
© %o

(B) ([Hdresven
(D)

tﬁaQDS: 550 (Hero & (Bod BSE DD
OFOE PirRE TRTren ?
(a) 8L Dendew

(b) SrGerRssS sodrRol)
(©) B85 =BT

(d) £B8S JERHRERS)

g5 :

A)  (a), (b) bW (c)

B) (@, (c) »batw (d)

(€}  (b), (c) B (d)

(D) (a), Bb), (c) B0 (d)

808 ad)S (HBFES (A) S0k b
(R) © sgrdorr 35BS K:a&:ocpwm&)&
Qo5HEPR :

(BO2ES (A) :

g Eore 0038 F8E Dban ey
Do EOA dodnod.

LT R):

o 308 1B FYESEDS wodo.

%5 :

(A)  (A)HBSEH (R)BoH Jewd, So8ckn
(A)% (R) 585 D%8ea.

(B) (A) 8% (R) Boh Jed, 5B
(A)S (R) 8BS 5880 s°5.

{C) (A)dao, =D (R) Deso =%

(D) (A) deo =%, 52D (R) Deso
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(a)

(®)

(©

(d)

Choose the correct code from the
statements given below :

(a) Explorative studies are designed
to test hypotheses.

(b) Experimental studies need not
formulate hypotheses.

(¢) A hypothesis need not be stated in
a testable form.

Codes : :

(A) (a), (b) are true, but (c) is false
(B) (a), (b) and (c) are false

(C) (a)is true, but (b) and (c) are false
(D) (a), (b) and (c¢) are true

Match the following :

Role Set (i) Conflicting demands
of the same role

Role Conflict(1i) Statuses held by an

individual at a given

time

Role Strain (iii) Demand from two or
more roles that do
not go together

Multiple (iv) Array of roles that
Roles goes with a given
status

Codes :

(@) (b) () (d)
A @ @) @v @
® Gv) @ Gi) @)
(Cy_(iii)_ (iv) (i) (i)

OO

s 8ot apds [HaSrsse eprtore $8%
885 dopsPold :

(a) @35Kxea°ééé @éédﬁoa"e» a’aaéeg):-éen
5880358 8BS Bohadara.

(b) BBrrHE eiicahIren HoEKOD
Ererobomrd)S wdddo S5

() H0&dod s’aéioémc‘\)é 5)@‘_6
Degore (HBPBoTOYS eSdB0 Bib.

58, :

(A) (a), (b) IBID, 8 (c) TBIO S
(B) (a), (b) SBSH (c) $BLD =&
(C) (a) 33%B, 08 (b), (c) SBSD =&
(D) (a), (b) B (¢) IBLD

&8 (B0b T8 2S8D8HHW ;

(8) B 5 () o @S Ko
8)63&3@_:26 &woty
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16.

17.

Paper-II i ATl ,.}, , Py

Choose the correct answer based on the
two statements, Assertion (A) and
Reason (R) given below :

Assertion (A) :

Culture can be called as capabilities and
habits acquired by man as a member of
society.

Reason (R) :
Culture 1s learned and not inherited.
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A) ' :

(B) Both (A) and (R) are true, but
(R) is not the correct explanation
of (A)

(C) (A) is true, but (R) is false
(D) (A) is false, but (R} is true

Choose the correct answer based on the
two statements, Assertion (A) and
Reason (R) given below :

Assertion (A) ;

An interval scale has a natural zero.
Reason (R} :

Income comes under interval scale.
Codes :

(A) Both (A) and (R) are correct
(B) Both (A) and (R) are wrong
(C) (A) is correct, but (R) is wrong
(D) (A) is wrong, but (R) is correct

16.

17.
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28 33060 V4H5RMe $HAN Hwdeod
eHHozsen HBAn voTRL Soyd
555,

% (R) :

Soxys EEROBORG $HBA PSS
JolEHoRB 0.
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(A) (A) B0 (R)Botd e, 565
(A% (R) 383 D55es.

(B) (A) 8¢5 (R) BoH Jexed, =d
(A)S (R) 8BS D88es =2,
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(D) (A)$B3B =2, =0 (R) IBLH.
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18.

19.

20.

Which of the following main divisions in
Sociology are identified by Durkheim ?

(a) Social Process

(b) Social Morphology
(¢} Social Control

(d) Social Pathology_
(e} General Sociology
(f) Social Physiology
Codes :

(A) (a), (b) and (e)

(B) (o), (d) and (e)

(©) M), (d), (e) and (f)
D) (@), (e) and ()

What is the measure from which the
sum of the deviations of the items is
always zero ?

(A) Arithmetic Mean
(B) Standard Deviation
(C) Mean Dewviation
(D) Median

Arrange the following work of Anthony
Giddens in chronological order :

(a) Capitalism and Modern Social
Theory

(b) New Rules of Sociological Method
(¢) The constitution of Society

(d) Central Problems in Social Theory
Codes :

A) (), (), () and (b)

(B) (a). (b), () and (c)

(C) (), (c), {a) and (d)

D) (&), (k). (

18.

19.

20.

& (800 THE* FBI Sikre TIHOEE Sogy
Qerrrenrr 3 S D8RR 7
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b) ABRS a‘wc'geé

() dSr2E Joho|es

@ dras 5K dse g
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O >Srss 0858 Ko
558, :

(4) (a), (b) 00 (e)

(B) (o), (d) 0w (e)

©) ®), ), (e) b ()

@) (B), (e} Hod ()

2 Fod Hod BHPES dlore Jwgo
QRIMMEF DT ©HHL ?

(A) eoshgsdo

(B) (rSrdE DSeso

(C) oosHasd oo

D) Hggrhdo

8o AGR) BE) & (80d BSSes
PoED (FBS° 0g)0d.

(8) S2VBD ok LrKk) PIS puvd
b oy S 6F FRaberasS BEE
© & soSPersES 6 Fpd

(@) Doed [@raS) a8 BRS HaHd
5‘5“) e

A) (a), (d), (c) 585 (b)

(B) (a), () (d) 0B (c)

(©) (®); (), (a) SHBA (d)
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22,

230
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According to Marx the Historical
Materialism refers to :

(A)
(B

Cultural Interpiretation of History

Historical
Society

Interpretation of

©)
(D)

Social Interpretation of History

Economic
History

Interpretation of

Choose the correct answer based on the
two statements, Assertion (A) and
Reason (R) given below :

Assertion (A) :

If a test is rehiable, it can be said to have
validity.

Reason (R) :

Validity of a test means that the test
shows consistency in results.

Codes :

(A) Both (A) and (R) are correct

(B) Both (A) and (R) are wrong

(C) (A) is correct, but (R) is wrong
(D) (A) is wrong, but (R) is correct

Which of the following are the stages of
Evolution, of Society according to Karl
Marx ?

{a) Feudal

(b) Industrial

(¢) Communist
(d) Agricultural
(e} Capitalist
Codes :

(A) (a), {e) and (¢
B) (@), () and (e)
(©) (a), (b) and (¢
(D) (a), (c) and (d)

21.

22,

23.

Ir0) Bedo FOEEE FaLTG0 &)
ESv AT oTAR

(4) S/ES JoBIEHS amgarsso
(B) {8 TOBEE TS0

(C) SO sres Ioggrgso

(D) SoEsH @gé TgEgRo

(808 1S (BBFES (A) HBGEH TrHD
(R)o wgrdom 393 :Sa‘woc;'vm:)a
o5&

BOES (A):

a8 B boahws eond, o8 g0add
Erre 5O dotnold TS,

Y (R) :

28 8 TD&ED K0A oo, $D@ven
NoSET GotrPcHR @go.

§55Q :
(A)
(B)
(©)
D

(A) S8 (R) Bot $BIA,

(A) £000 (R) BokH IBID =09,
(A) $B$8, s (R) $5BHD 500
(A) $BE6 50, 0 (R) 5838,

&8 (8ob T8SE° D 8 S8 [H0 Himes
DBerD (F00S® &) BFew :

(a) s

®)  @oBQEDHS

() By

(d) olNSensd

@ w20dF

(A)  (a), (e) 0B (c)
(a), (c) SoBakw (e)
€) (a), (b) S0 (c)
(a), (c) SBcsw (d)




24.

25.

Choose the correct answer based on the
two statements, Assertion (A) and
Reason (R) given below :

Assertion (A) :

Karl Marx 1s of the opinion that Iabour
was the source of all wealth.

Reason (R) :

According to him profit of the capitalist
was based on the exploitation of labour.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true, but
(R) is not the correct explanation
of (A)

(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

Match the following :
(a) Habermas (i)
(by Talcott Parsons (ii)

America
Italy
(¢) Vilfredo Pareto (1i) Germany
(d) Levi Strauss  (v) French
Codes :

(a (b (@ (@
@A) @ @y @ @)

@) @) @ ) @
© ) O
D) @) @

@ii) (u)
() @)

BT

00

24. (808 BYS (HBFES (A) HBIED IPEHH

25.

it s 4

(R) © sgrdor 3PS SSrgeaed)
NotHs%R |

DOFEIS (A):

5058 Horeo (FH ©d s§ HrE)
O AHHE .

HH (R) :

sad (Hsedo, “a‘)enuea&mda& erglo (Fo
55333,@ STPEHE Gotnod.

§55‘3 g

(A)  (A) 580 (R)Botd Jerd, 508850
(A)S (R) 388 D58es.

(B) (A) 5805 (R) Bo Jed, oD
(A% (R) 385 D58c0 soi.

(C) (A) deo, =5 (R) Jeso o
D) (A) dzo %, & (R) Jwo

& 1808 B 2838508 :

@ Fabird i) oo
B oS PG () =0d
(© MJE B (i) ad
(@ 30 @S (iv) (oS
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(a) (b) () (d)
Ay G Gi) @)
B) @) ) ) @
(C) Gv) @) () (@)
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26. Which of the following Sociologists has

used the terms ‘Mechanical Solidarity’
and ‘Organic Solidarity’ ?

(A)
(B)
(©)
(D)

Talcott Parsons
R.K. Merton
Emile Durkheim
Max Weber

27. If the covariance between X and Y
variables is 7, and the variance of X is
16 and the variance of Y is 9, then
coefficient of correlation will be :

(A) 049 (B) 0.58

(© 034 (D) 0.62

28. Which of the following works belong to
Max Weber ?

(@) General Economic History

®)

Social Action, Behaviour and
Verstehen

(¢ The Agrarian Sociology of Ancient
Civilizations

26. & (8ob Hires TRIB0S® DS ‘Wro|dE
TBOE Hbdin IS sy ©F
dred X ?

(A) erdedl P
(B) «8.3. 2gS
©) oS 3 S
-8
(D) %r5) 308

XHo8ahn Y SsoedHe EF0aHS) 750k
X Gog) S30cHT) 16 2B Y Bws)
J6AHS) 9, wond $EFdoBOE o Dens

dod ?
(A) 049 (B) 0.58
(C) 0.34 (D) 0.62

28. & (Bob B &) b 5D0DS (Hogren
A ?
(@
(b)

2388 JETDE &rgd

LS SrES, D6 wob
), 3R

(©) & o[BS PAdSrod of
IVNCHOLT BIBEAT)

(d) Religion and Morality (d) 8H2HS wof Iredd
(e) The Sociology of Religion (e) & FhcSrod of B8ORS
Codes : 5‘5‘3:

@) (2), (b and (@) @) (@), (b) S8 (d)

B) (a), (¢) and (e) (B) (@), (0) B (e)

© (a), () and (©) (C)  (a), (b) 5B (¢)

D) (c), () and () (D) (@), (d) £B (e)




Assertion (A) :

Emile-Durkheim.
Reason (R) :

Verstehen is
‘Understanding’.

Codes :
(A)

of (A)
(B)
of (A)

©
D)

Match the following :
1)
Sigmund Freud (1)

Jean Piaget

C.H. Cooley (iii)

G.H. Mead (iv)

Choose the correct answer based on the
two statements, Assertion (A) and
Reason (R) given below :

The concept ‘Verstehen’ was used by

German for

Both (A) and (R) are true and
(R) is the correct explanation

Both (A) and (R) are true, but
(R) is not the correct explanation

(A) is true, but (R) is false
(A) is false, but (R) is true

Looking Glass self

Generalised
other

Psychoanalytic
Theory

Cognitive
Development
Theory

(d)
(1)

0 O

8ot BD)S OGS (A) DB TrENH)
(R)o@méom‘é@:ﬁéépmm&&aoé)?o&:

SOIES (A) -

38) 28 O3 PS5 S &3 5 s,
&P (R) :

38) 38 woll afSE ‘wro Bwe"sKo’
S~
(A)

29.

(A) 55805 (R) Boh Jerd, B
(A)% (R) 5B ddBeo.

(A) S08c» (R) Bot Jepd, 500
(A)% (R) $BS D58es =080

(A) D=0, =) (R) dao %
(A) dz20 =%, =20 (R) Jmo

(B)

©
)

30. & 1800 & as8DEHIw ¢
(@) &8 HosrB (i)
b) D& @rank (i)
(@) .38 &8 (i)

en8of PR ?06:3
2558 055
28505088
%’oagoéo

d) 235 HE  (v) sASS

Slehots
2rodo
()

555'):
(b) (o)
(1) ()
(iid) (i)
i) (@D
@) @av)

A)
(B)
(©)
(D)
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31. R.K. Merton identifies modes of
adaptation pertaining to goals and
means. They are :

(a) Conformity

(b) Rebelion

(¢) Isolation

(d) Retreatism

(e) Ritualism

(® Innovation

Codes :

A) (), (), (c) and (d)
(B) (a), (), (c) and (e)
(€) (a), (b), (c), (d) and (e)
(D) (a), (), (d), (e) and ()

32. Choose the correet answer based on the
two statements, Assertion (A) and
Reason (R) given below :

Assertion (A) :

If the variables vary in opposite
directions, the correlation is negative.

Reason (R) :

When the correlation is negative, we can
say that there is no relation between the
variables concerned.

Codes :

(A) Both (A) and (R) are correct
(B) Both (A) and (R) are wrong
(C) (A) is correct, but (R) is wrong

(D) (A) is wrong, but (R) is correct

Paper-11

31.

32.

- Rl "

5%, FHTeH JSowosod b 8. Eng
Q) 00887 dgrarei 0. ) S
Bod BS° DD 7

(a) éx’)‘)aéeﬁ

(b) BBIHY

() oPBRS

d ofdad

(e) BengsOesH

H aA/ISS

885 :

(A4) (a), (b), (c) B (d)
(B) (a), (), (c) 65w (e)

(©)  (a), (), (c), (d) B (e)
D) (@), (), (d), (e) B ()

(Bol ai)S (HBIPES (A) HV0W e
(R)o 65rBorr 885 08rae) doihs’od :

BSOFES (A) :

SBoeHen 6582% &'a’éf; SpdHsr DG
JrRo0E KHsto IRABST dotnod.

P (R) :

JBpdonos Hreso IRAS™ wod, Hdo
oo Jv% Ssorde s Bomoo
B BHyS.

%8, :

(A) (A) HBuo (R) Do IBSS.

(B) (A) 508050 (R) BoH KBS s°H.
(0O (A) 5338, =20 (R) $B56 08
(D) (A) 5TXB 0%, = (R) $B5A.
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33.

34.

Choose the correct answer based on the
two statements, Assertion (A) and
Reason (R) given below :

Assertion (A) :

A scientific theory can be proved wrong
at any time.

Reason (R) :

A hypothesis drawn from a scientific
theory cannot be proved wrong.

Codes :

(A) Both (A) and (R) are correct

(B) Both (A) and (R) are wrong

©)

(A) is correct, bqt (R) is wrong

(D) (A) is wrong, but (R) is correct

Which of the following sociologists are
associated with the Social Contract
Theory ?

(A)

George Simmel, Lewis Coser and
Dahrendorf

{(B) Thomas Hobbes, John Locke and
d.J. Rousseau

(C) Auguste Comte, Herbert Spencer
and Emile Durkheim

(D) Auguste Comte, Thomas Hobbes
and Herbert Spencer

33.

34.
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Bo ad)S (HBFES (A) S D)
(R)o 85p80r 838 H8rerard) dohslod :

B5OFES (A) :

a8 FRGH drpodo IPBT Iy ©D
DEPDOBDES ).

HH (R) :

2.8 QoD drpoo wod Babey H68eS
85y o WrdbosmeId Dos.

5‘5‘3 :

(}l) (A) 880 (R) BotH IBIA.

(B) (A)8cs» (R) Botd HJBID 2.

(C) (A) 3830, =D (R) 8B =%,

(D) (A)$B56 =0, 520 (R) $BL6.

&8 (80D JSwes PRIB0S® DR F sl
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B) DD ), aeS o8 éaacsfm. B.R.

EoRE -
(C) oKg B, HE AR5 SHBaio
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35.

36.

Arrange the following works of
R. Collins in the order they were
published :

(a) Weberian Sociological Theory
() Sociology Since Mid Century
(¢) The Credential Society

(d) Towards a Neo Median Sociology
of Mind

Codes :

@) ®, © (@ and @
®) ©, @, @ and ()
© (©, ®, (2 and @
D) (a), (¢), (b) and (&)

Choose the correct answer based on the
two statements, Assertion (A) and
Reason (R) given below :

Assertion (A) :

Sociology is a pure science and not an
applied science according to Robert
Bierstedt.

Reason (R) :

The main aims of pure science is
acquisition of knowledge and not to put
it to use.

Codes :

(A) Both (A) and (R) are correct
(B) Both (A) and (R) are wrong
(C) (A) is correct, but (R) is wrong
(D) (A) is wrong, but (R) is correct

35. ©8.5°0%) @y & Bod BStodH 8

36.

(Bihtes (Ehos® wod.

(8) DBOHS WNCHrRES HaHd
b) Rfacsred 1) DE vosb
(© & B3eos pd

(&) 058y o TP DAHS Ahcsred
8P Dol

-

(A) (1), (©), (a) SBas» ()
(B) (o), (a), (d) B3 (b)
(C) (), (b), (a) B (d)

D) (a), (0), (b) Bk (d)

(8o ad)d IBBPES (A) HBAW TrHH
(R)o65r80r 338 SErrraed) DoiHs®od :

(BOES (A) :

cof D5RE weso Ssramigo o HY
TR0 DB oHBAWE R0 .

& (R):

DapsS SwdrgS D R Sofgo, Ry
SIBPPIE Ko oK.

5 :
(A) (A) %0k (R) Bo $BS3,

(B) (A) 58ci (R) BotdH ¥TID =%,
©
(D)

(A) 3358, =0 (R) 9858 =&,
(A) 3358 5%, =°J (R) 3836,
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38.

Which of the following sociologists has
propounded the circulation of Elite
Theory ?

(A) Herbert Spencer
{B) Nicos Poulaintzas
(C) | Antonio Gramasci

(D) Vilfredo Pareto

Find out the order in which the works
of Robert K. Merton were published :

(a) Sociological Ambivalence
(b) The Legacy of Anomie Theory
{¢) Social Theory and Social Structure

(d) Politics of Masculinities-Men in
Movement

Codes :

A) (@, (@), (b) and (d)
B) (), (a), (c) and (d)
© (0, (a), (b) and (d)

(d), (c), (2) and (b)

37.

38.
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& Bod 0S° 5 BY wd HBJoBeR
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39. Choose the correct answer based on the
two statements, Assertion (A) and
Reason (R) given below :

Assertion (A) :

A statistical measure based on the
entire population is known as a
parameter.

Reason (R) :

Parameters cannot be estimated from
samples of the population.

Codes :

(A) Both (A) and (R) are correct
(B) Both (A) and (R) are wrong -
(C) (A) is correct, but (R) is wrong
D) (A)is wrong, but (R) is correct

40. G.H. Mead is associated with which of
the following ?

(a) Stages of Development

(b) Modernity and Subjectivity
(¢) ‘T and ‘M¢’

(d) Generalised other

Codes :

(A) (@), (c) and (@)

(B) (a), (d) and (¢)

(€ (), () and (@)

(D) (a) and (b)

41, The mean of 10 items is 35, If one more
item is added, the mean becomes 36.
What is the value of the 11t? item ?

39. 508 B PBIES (A) DBy TrHy)

40.

41.

a) 20 (B) 36
© 10 (D) 46

R)o sprdorr 583 RErrrd) JoiSol |
(BP8PSS (A)

S0Eo 2TEEPY SEEHE IBS Keod
SodlH s ©d woird,

D R)

e GoE) (HBSchTe TRo° 'Samf.béoé:é:
VoS JIdhiko 3°C5§o o5,

g5 :

(&)  (A) 580 (R) Both $Bs3,

(B) (A) &Baso (R) Both $B5D =%,
(€ (A) 3336, = (R) $856 =¢%.
D) (A) 3338 =25, =0 (R) $BS6.

& (fob o8 2305, DSy,
No0H0DED D ?

(a) @:-é)ée)g B8en
b)  ©HIS o $Z80S
© B, Sy

() 58S ©sE

55 : _
(A)  (a), (c) HBcs (d)
(B)  (a), (b) 8050 (c)
©) M), (c) S80S (d)
D) (a) SodBw (b)

10 sozre B0 35. BofS wodo
TH8 F83, OB 36 0HFHod. 115
®0d0 TF) Densd Jod ?

(A) 20 (B) 36

©) 10
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42, With which of the following is Herbert

43.

Blumer associated ?
(a)
(b)

Positivist Methodology

Society exists in the context of
human experience

(c)
(d)
(e)

Micro-Sociclogical Approach
Quantitative methods

Incorporating the subjective View
point

Codes :

(A) (), (c) and ()
(B) (a), (b) and (c)
(© (a), (¢), (d) and (e)
D) (), () and (d)

Which of the following are
characteristics of conflict ?

(a)
®)
(c)
C
Codes :

the

Conflict is Universal
Conflict is Unconscious
Conflict is Continuous

Conflict is Conditioned by culture

&)
B)
©)
D)

(a) and (b)
(b} and (¢)
(c) and (d}

(a) and (d)
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(B)
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(b)
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44. Choose the correct answer based on the

45.

Paper-Hl .

two statements, Assertion (A) and
Reason (R) given below :

Assertion (A) ;

Pearson introduced the concept of rank
correlation.

Reason (R) :

Rank correlation coefficient varies
between 0 and 1.

Codes :

(A) Both (A) and (R) are correct
(B} Both (A) and (R) are wrong
(C) (A) is correct, but (R) is wrong

(D) (A) is wrong, but (R) is correct

According to Auguste Comte the Law of
three stages identifies the following
stages :

(A) Positive stage, Traditional stage
and Scientific stage

(B) Traditional stage, Theological
stage and Scientific stage

(C) Theological stage, Metaphysical
stage and Positive stage

(D) Metaphysical stage, Positive stage
and Scientific stage

44. (808 a)d (HBI;ES (A) Hobaw IrHH

45.

(R)o eprdorr SB8 38rerard) dowstod ;
BOFES (A) :

oxof JFdonodo ol grSS DAHBYS
BIEDepD.

HH (R) :

o208 JirSonod Heso 05805 1 S
doénod.

-

(A (A) SBain (R)Both B,

(B) (A) DB (R) Bot $BID =%
(©) (A) 5338, =V (R) 556 5o,

(D) (A)TBIB =, =0 (R) B58.
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46.

47.

48.
(a)
)

(©
(d)

b S
Paper-IT..C.0 -

Which of the following are examples of
quantitative variables ?

(@) Age

() Sex

(¢) Income

(d) Religion

(e) Marks
Codes :

(4) (@), (b) and (¢)
(B) (b) and (d)

©) (), (d) and (e)
(D) (a), (c) and (e)

Which of the following are the writing
of Malinowski ?

(a) Myth in Primitive Psychology
(b) Politics and Social Structure
(¢) Freedom and Civilization

(d

Crime and Customs in Savage
Society

Codes :

(A) (a), (b) and (¢}
(B) (b), (c) and (d)
() (a), (0 and (d)
(D) (a), (b) and (d)

Match the following :
Functional Theory

Symbolic
Interaction

(1) Max Weber
(ii} Coser

(iii) Durkheim
(iv) G.H. Mead

Social action
Conflict approach
Codes :

(a) (b) (o)
(A) (i) v @
® @ G Gv)
(C) G @ @iy
(D) @il) @v) @)

(d)
(ii)
(ii)
(iv)
@)
)
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(a)
(b)

(c)
(@)
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(c) ®TRCHO

(d) NSo

(e) Hr&yen

565;, e

(A)
B)
©)
(D)

(a), (b) 0Bk (c)
(b) 0005 (d)

(c), (d) 58050 (e)
(a), (c) B (e)

& Bod A DD HOFRy BisSen ?
@) D8 15 BVES Prod

b) 085 wol FUS (HE6

(© 5&S wol 2ITHIS

(d) B ool EJ&) as H3E b
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(A) (a), (b) DB ()

B) (), (c) H0a® (d)

(©) (a), (¢) SO (d)

D) (a), (b) H000 (d)
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S

FEPRE S
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49.

50.

Choose the correect code based on the
following statements

Statement (I) ;

F- test is a non-parametric test.
Statement (IT) :

Chi-square is a parametric test.
Codes :

(A) Both (I) and (IT) are true
(B) (1) is true, but (II) is false
(C) (1) is false, but (II) is true
(D) Both (I) and (II) are false

Choose the correct answer based on the
two statements, Assertion (A) and
Reason (R) given below :

Assertion (A) :

When we reject a Null hypothesis that
is true, we commit type II error.

Reason (R) :

When we reject a Null hypothesis, it
means that there is no relation between
the variables.

Codes :

(A) Both (A) and (R) are correct
(B) Both (A) and (R) are wrong
(C) (A) is correct, but (R) is wrong
D) (A)is wrong, but (R) is correct

-o0Qo-
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